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1. 8m& 1,383,000 (1. &H#EFEE 1,542, 816
ERTES 1) Fods5LtEE 432,261 x 1= 432, 261
—B=E8 4,000 x 130 & 520, 000
— k8 7,000 x 214 147, 000 2) HIRIE 170, 700
PELE 1,000 x 39 & 39, 000 E5% (RB&EEsL) 714,000 x 1= 714,000(1045E - 4505B4E R
PHEERE 2,000 x 12 & 24,000 SMEERE 56,700 x 1= 56, 700 {45018 1E B
Eaiast 202 %
3) R—LR—DHEE 36, 750
L HEER IV ) —PRTFLY—N—EAR 36,750 x 1% 36, 750
—B=8 6,000 x 39 234, 000
—fEE=8 8,000 x 48 384, 000 ) EESE 84, 600
pESE 1,000 x 17 17,000 TOJSLEEREE 3E) 84,600 x 1= 84, 600 |201248568/201342828/7838
PHERE 2,000 x 9 18, 000
1= = . T 5 BHE - BHE 218,505
85 315 RaE 6,825 x 1 6, 825
ERERLES 75,180 x 1 75,180 (ERismER, FEER
2. BRLE 655, 000 AEZRIHTE &L EREER 105,000 x 1 # 105, 000
BRTEE YoaTWERE 31,500 x 1= 31,500
— g 4,000 x 100 & 400, 000
ot 1,000 x 30 & 30,000 f12. HAFEEE 3,418,215
EhI&Et 130 & 1) KEREE 1,363, 740
LAEHK RRE—RIGREE 308,700 x 1= 308, 700
—hg 5,000 x 42 £ 210, 000 BTRREXRESR 1,055,040 x 1% 1, 055, 040
P 1,000 x 15 %4 15, 000 )
_LAEEF 57 & 2) BIR - ERRTIERE 91.875
BEEEE 187 B 63,000 x 1 63, 000{900 x 1800 x 2#%
HBALURRUFR 7,875 x 1= 7,875

3. ER&EKRE 2,000 x 0 it 0 BiFER 21,000 x 1= 21,000{20%%

4 SyFarvesI—HEN 870, 000 3) HEAHE 613,100
SvFavkeIF— 210,000 x 2h35L 420, 000 AEAG-E 257,250 x 13 257,250|3. 580 x 2%
BHUAK 1,000 x 450 450, 000 AETERE 50,400 x 1= 50, 400(3;8 x 244

AER B & 34,650 x 1=K 34, 650

5. BREHEN 2,328,900 AERBENE 37,800 x 1=K 37,800
BrREHEHR A 105,000 x 18 /el 1, 890, 000 T b AGE 233,000 x 1= 233,000|ZE~R124
BREEEH B) 94,500 x 1= 94, 500
ERERY 344,400 x 1% 344, 400 4) SEERE 1,178, 600

BELE 595,000 x 1 595, 0001704 4> %

6. KE&BEHE 367, 500 AR ITERER 60,000 x 1 60, 000(60E

REHIRA 367,500 x 1= 367, 500 aA—kbE—4%—ERXE 73,600 x 1= 73, 600|6704%
SUFaAVEIF—BHER 450,000 x 1= 450, 000
1. #pE - F6e 500, 000
AXRS/ LEMREE Hhhe 500, 000 5) REHRERE 141,971
L Bfms (XA, f1at’ V%) 31,500 x 1= 31,500
F—LRLE— 15,971 x 1 15,971
Y- R=4TWTVT VAN 52,500 x 1= 52,500
EEE 42,000 x 1 42, 000 | = 35-AER]
6) KR4 —EHERE 28,929
SRERERE 2,100 x 1= 2,100|525 x 41&
BERR (HEH) 20,000 x 1=K 20, 000(5, 000 x 44
HiKE 6,300 x 1=K 6,300(1,575 x 4#
BERRXE 529 x 1K 529(126 x 444
3. REERE 987, 000
SyFarveI—FRH 84,000 x 1 84, 000|HEH & & FHEED20%
BrRRERE 462,000 x 1% 462, 000 [HH BH & &5HEED20%
LEZRE 73,500 x 1= 73,500 |{BE B &ETEED20%
EBEEEXBZERE 367,500 x 1= 367,500|73,500M/A x5+ A
4. ZTOhMEE 65, 730
FHUBBE (BB H S (3/25) 10,500 x 1= 10, 500
BHRAEZER (KEHERE (7/3) 45,570 x 12 45,570
HRA F B 9,660 x 1% 9, 660
5 PHE 90, 639
& &t ¥6, 104, 400 & Bt 6, 104, 400




